
 

 
 

 

1 

  

Konnect 

Installation Guide 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

                                    

                                    © Copyright Konnect 2021 ς v2 EUROPE VERSION 

  



 

 
 

 

2 

 

 

 

 

DISCLAIMER: THIS GUIDE IS DESIGNED FOR USE BY TRAINED PROFESSIONALS ONLY. ALL NATIONAL 
ELECTRICAL CODES AND ALL HEALTH & SAFETY REGULATION PERTAINING TO SATELLITE ANTENNAE 
INSTALLATION MUST BE RESPECTED. KONNECT AND EUTELSAT GROUP ARE NOT RESPONSIBLE FOR ANY 
HARM OR DAMAGE THAT MAY RESULT FROM THE USE OF THIS GUIDE WITHOUT PROPER TRAINING AND 
DUE CARE. 

 

 

 

 

GLOSSARY 
 

Pointing Finding the correct position of the antenna towards the service satellite in the sky in order to 
receive broadband signals 

 

Line of sight   Direction of the antenna to the satellite 

 

Beam            A spot beam is a satellite signal  that is  specially  concentrated  in  power,  allowing 
                                           to    transmit   different   data   signals   using   the same   frequency  for  different  
                                           geographical  locations. Konnect is a multi-beam satellite, with each beam serving 
                                           a specific ŀǊŜŀ ƻƴ ǘƘŜ ŜŀǊǘƘΩǎ ǎǳǊŦŀŎŜ 
 

Elevation  Vertical angle between the pointing direction towards the satellite and the local horizontal 
plane 

 

Azimuth Horizontal angle measured in the local horizontal plane in a clockwise direction from north. It 
refers to the rotation of the whole antenna to the vertical axis of the pole 

 

Polarization The way a radio electric frequency propagates. The system uses circular polarisation where 
electromagnetic waves rotate around the propagation direction either right (RHCP) or left 
(LHCP) 

 

Transceiver Unit at the end of the antenna that converts the signal frequency between the satellite signal 
and the modem. Modem and transceiver are connected via a single coaxial cable. The 
Polarizer of the Transceiver can be set in RHCP or LHCP (default configuration is LHCP) 

 

 



 

 
 

 

3 

 
Table of Contents 

 
 

KONNECT TERMINAL OVERVIEW 
 

Installation Kit    page 4 
Installation Tools    page 5 
System Assembly    page 6 
Transceiver Setup    page 7 
Antenna Control Bolts    page 8 
 

 

INSTALLATION STEPS USING THE PC 
 

Part  1 :  Preparing the Install    page 9 

Part  2 :  Selecting the Location    page 10 

Part  3 :  Assembling the System    page 11 

Part  4 :  Connecting the System    page 11 

Part  5 :  Programming the Modem    page 12 

Part  6 :  Pointing the Antenna    page 13 

Part  7 :  Commissioning the Modem    page 15 

Part  8 :  User Portal    page 16 

Part  9 :  Wi-Fi Connectivity    page 16 

 

 
INSTALLATION METHOD USING THE APP 

 

Installing and Pointing with the Konnect Install App    page 17 

 
 

ANNEX 
 

Á Beams and TX Polarization Table    page 19 

Á Terminal Swap Procedure    page 20 

Á Relocation Procedure    page 20 

Á Troubleshooting Table    page 21 
 

 
  
 
 
 



 

 
 

 

4 

Fig.1  -  INSTALLATION KIT 

   (parts included in the kit) 

 
 

 
 
 

 
 
 

 
 
 

 
 
 

 
 
 

 
 
 

 
 
 
 

 
 
 

 
 

 

 
 

 
 

 
 
1.1 - Antenna Reflector (74cm or 90cm)  

 
 
 
 
 
 
 

 
 
1.2 - Antenna Canister (74cm or 90cm) 
 
 
 
 
 
1.3 - Antenna Transceiver (1W) 
 
 
 
1.4 - Modem Wi-Fi (HT2000W) 
 
 
 
 
1.5 - Coax Cable (30m) 
 
 
 
 
 
  
1.6 ς Tri Mast 

 
 
 
Á Reflector 
Á Antenna Arm 
Á Bolts/Nuts Box 

 
 
 
 
 
 
 
 
 
Á Tilt Plate 
Á Reflector Bracket 
Á AZ/EL Canister 

 
 
 
 
 
 
 
 
 
Á Modem HT2000W 
Á Power Supply 
Á Ethernet Cable 

 
 
 
Á RG6 Outdoor 30m Coax Cable  
Á Waterproof Compression Connector (already  

compressed  on the  cable) 
Á Push-On Compression Connector  

(to modem, no need of compression tool) 
 

 
 

Á 6 Anchor Bolts 
Á 60mm Mast 
Á Mounting Kit 

 

 



 

 
 

 

5 

Fig.2  -  INSTALLATION TOOLS 
                      (not included in the kit) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

11mm spanner 13mm spanner Cross screwdriver 3mm L-key 

Cable Cutter Cable Stripper 

Level 

Smartphone Compass Laptop 

Driller M8 Bolts 

2.1  Antenna Assembly 
 

2.2  Cables & Connectors  
 

2.4  Mount Fixation 
 

2.3  Modem Connection & Antenna Pointing 
 



 

 
 

 

6 

Fig.3  -  SYSTEM ASSEMBLY 
 
 

 

 
 
 

 
 
 
 

 
 
 

 
 
 
 

 
 

 

 
 
 

 
 
 

 
 
 

 
 
 

 
 

 

 
 

 

¶ ---  

3.2  Antenna Reflector & Transceiver final assembly (74/90CM) 
 

 

Split Washer (2x) 

 

Flat Washer (2x) 

Hex Nuts (2x) 

  

Reflector Bracket 

Canister 

 

Tilt Plate Hole 
not used 

Align Zero (0) on scale 
with Pointer (^) on 
cannister 

13mm 

13mm 

11mm 

Short Screw (x1) 

Flange Nuts (4x)  

Transceiver 

Flange Nuts (5x)  

Coach Bolt (4x)  

(Polarization R or L setup 
following Fig.4) 

Reflector 

Feed Arm 

Hex Bolt 
(x2) 

                        3.1  Reflector Bracket and AZ/EL Canister assembly (74/90CM) 
 

 

         NOTE: 90cm antenna has an identical design of 74CM, except for:  
 

Á 5 Coach Bolts - instead of 4 - to fix the Reflector on its Bracket 
 

Á Arm is attached to the antenna with 2 horizontal Hex Bolts ς instead of 
vertical ς and 1 vertical Bolt with arm plate (fig 3.3) 
 

Á Arm Bracket is already fixed on the Feed Arm 

Coach Bolt 
(4x 74cm, 
5x 90cm) 

Fig 3.3 
 

Arm Bracket 



 

 
 

 

7 

Fig.4  -  TRANSCEIVER SETUP 
 

     Figure 4.1: Transceiver with Polarization RHCP  -   Right 

 

 
 
 
 
 
 
 
 
 
 
 
 
 

 

 

 

                 

     Figure 4.2: Transceiver with Polarization LHCP   -   Left 

 

 

 
 
 

 
 
 

 
 
 

 
 

 

 
 

Polarizer Marker is 
on the TOP 

 

2 Polarizer  
Screws  

2 Polarizer  
Screws  

Polarizer Marker 
is on the LEFT  

 

Default Polarization of any 
new Transceiver out of the box 
is always Left  (lhcp) 
 

POLARIZER 
  

POLARIZER 
  



 

 
 

 

8 

                     Fig.5  -  ANTENNA CONTROL BOLTS 
 

Figure 5.1: Antenna bolts and nuts 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Figure 5.2: Azimuth lockdown nuts 

 

 

 

 
 
 

 
 
 

 
 

Canister nut #10 

Canister nut #11 

Canister nut #12 

Elevation nut #3 

Azimuth lockdown nut 
#6 

Azimuth lockdown nut 
#7 

Elevation rod 

Elevation nut #4 

Elevation nut #2 

Azimuth bolt #5 

Elevation Adjustment 
nut #1 

Azimuth lockdown nut 
#8 

Azimuth lockdown #7 

Azimuth lockdown #8 
Azimuth lockdown #6 



 

 
 

 

9 

INSTALLATION STEPS USING THE PC 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 
Step 1: Check you have all the kit parts (fig. 1) 
 
Step 2:  Check you have all your tools to perform the 
installation (fig. 2) 
 
Step 3:  Check you have the sbc file in your PC before 
you go on site to perform the install  
 

NOTE: the sbc configuration file is the same for all 
users and must be uploaded on the modem to 
provide the satellite parameters. It can be provided 
by your field manager  
 
Step 4:  Check you have the Work Order (fig. 2) 
which provides all the information to perform an 
install for a specific customer:   
 

TX Polarization  => to assemble the antenna 
transceiver with right (R) or left (L) setting, 
 

Latitude/Longitude & Beam Number of Customer 
Site => to program the modem,  
 

Azimuth/Elevation & Sat Orbital Position => to point 
the antenna,   
 

Activation Key  => to activate the modem 
 
 

 

PART 1: PREPARING THE INSTALL 
 

Figure 6   

 



 

 
 

 

10  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
Step 5: Select the installation location (accessible 
flat rooftop or side wall south-oriented) following 5 
rules:  
 

Á Clear Satellite Line of Sight,   
Á Solid surface for fixing the mast,   
Á Feasible cable route & distance (max 30m),   
Á Position authorized by client and easily 

accessible,  
Á Safety of the Installer 

 
Step 6: To check the Line of Sight open  the free 
Android or iOS App Konnect Install or  use a 
Clinometer & Compass. The orbital position of 
KONNECT satellite is 7.2 East 
 
Step 7: Select the augmented-reality  function ΩSat 
CƛƴŘŜǊΩ. Move the smartphone until the red circle 
becomes green (fig. 7) and make sure no 
obstruction appears within the green circle 
(consider even future obstructions as growing 
trees) 
 

NOTE: if use the Clinometer & Compass, get the 
Azimuth & Elevation values  from the Work Order, 
and make sure the direction of the satellite is free of 
obstructions with an opening angle of at least 10°  
(fig. 8) 
 

Step 8:  Fix the mast using 5CM M8-Bolts adapted 
to the wall type (fig. 9). Example: Expansion / 
Anchor Bolts (Concrete), Rawplugs (Brick), Screws 
(wood).  

NOTE: the Trimast allows horizontal, vertical and 
sloped configurations (fig. 9) 

Step 9:  Check with a level that it is vertical 
 

 

 

PART 2: SELECTING THE LOCATION 
 

Figure 8 

 

Figure 9  

 

Figure 7  

 



 

 
 

 

11  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

Step 10: Identify on the Work Order the Polarization 
value for your installation, which can be LEFT (lhcp) 
or RIGHT (rhcp): 
 

¶ If LEFT (lhcp) there is nothing to do on the 
Transceiver, since the default Polarization of any 
new unit is always Left  (lhcp). Check your 
transceiver corresponds to fig. 4.2. and the 
triangular marker is oriented on the LEFT 
 

¶ If RIGHT (rhcp) remove the two polarizer screws with 
a 3 mm hex L-key, separate the polarizer, rotate it 90 
degrees and reposition it so that the triangular 
marker is oriented on the TOP. Then tighten the 2 
screws 

 
 
 

Step 11:  Assemble  the Antenna: Reflector,  
Canister, Arm, Bracket, Transceiver (fig. 3) 
 

Step 12: Install the antenna on the mast and check 
with a level that it is vertical 
 

Step 13: Pose the coax cable form the outdoor to 
the indoor of the building, preferably reusing 
existing cable routes (if you drill a hole, set the right 
sloping angle to avoid water ingress in house, and 
then seal it) 
 

Step 14:  Connect the Waterproof Connector 
(already compressed  on  the  cable) to the 
Transceiver, and gently tighten it until fixed 
 

NOTE: Under-ǘƛƎƘǘŜƴƛƴƎ ŘƻŜǎƴΩǘ ƎǳŀǊŀƴǘŜŜ 
waterproofing, Over-tightening may damage the cable 
 

Step 15:  Prepare the indoor side of the cable  with 
a cable stripper (fig.11), introduce the Push-On 
Connector, and connect it to the Modem (no need 
of compression tool) 
 

Step 16: Carefully tighten the connector with 11mm 
spanner (during this process the Push-On connector 
will compress on the cable) 
 

Step 17: Plug the modem to the power supply 
 

Step 18: Connect the modem and PC  via Wi-Fi using 
the credentials reported on back panel of the 
modem (fig. 12). You can also connect directly with 
an ethernet cable 
 

PART 3: ASSEMBLING THE SYSTEM 
 

PART 4: CONNECTING THE SYSTEM 
 Figure 10   

 

Figure 12 

 

Figure 11 

 

6 mm 
length 



 

 
 

 

12  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Step 19: On your PC Enable DHCP (flag Ψhōǘŀƛƴ ŀƴ 
Lt ŀŘŘǊŜǎǎ ŀǳǘƻƳŀǘƛŎŀƭƭȅΩ) and Disable Proxy 
server (unflag Ψ¦ǎŜ ŀ ǇǊƻȄȅ ǎŜǊǾŜǊ ŦƻǊ ȅƻǳǊ [!bΩ) 
 
Step 20: Open a Web Browser on the PC and type 
192.168.0.1 in the address field and press Enter 
to visualize the modem homepage (fig. 13)   
 

NOTE:  select a Browser among Firefox, Google 
Chrome, Apple Safari 
 
Step 21: Load the Sat Modem Configuration file 
sbc.bin: 
- On the top bar on the right click ΨƛΩ icon to access 
the Advanced Page (fig. 14) 
- hƴ ǘƘŜ ƭŜŦǘ ǇŀƴƴŜƭ ŎƭƛŎƪ ΨLƴǎǘŀƭƭŀǘƛƻƴΩΣ Ψ!ŘǾŀƴŎŜŘΩΣ 
Ψ¦ǇƭƻŀŘ {./ /ƻƴŦƛƎΩ (fig. 15) 
- On the main page browse your files, select the 
sbc.bin file, click on Ψ¦t[h!5Ω (fig. 14) 
-  Click ΨwŜōƻƻǘΩ on the top (fig. 14) 
 
Step 22: Click ΨLb{¢![[Ω on the left side panel (fig. 
15) to open the installation page  
 
Step 23: Flag on the bottom left the box Ψ9ƴǘŜǊ 
[ŀǘƛǘǳŘŜ ŀƴŘ [ƻƴƎƛǘǳŘŜ LƴŦƻΩ , select Decimal 
Degrees format, and enter Latitude & Longitude 
(fig.16) of the installation location from your 
Work Order 
 

NOTE:   >0 Lat is North,    <0 Lat is South 
              >0 Long is East,   <0 Long is West 
 
Step 24: Select the Satellite KONNECT. Flag Beam 
Override and check or select the Beam Number 
corresponding to the one reported in the Work 
Order 
 

NOTE:  Rx-Pol is the opposite of Tx-Pol 
 
Step 25: Select the Antenna Size (74 CM, 90CM, 
120CM) corresponding to your kit (fig. 17) 
 
Step 26: Click Ψ{¦.aL¢Ω (fig. 17) 
 

Figure 13   

 

Figure 16  

 

Figure 14   

 

Figure 15   

 

KAF3-20West  

PART 5: PROGRAMMING THE MODEM 
 

Figure 17  

 

KONNECT 



 

 
 

 

13  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Step 27: Identify the correct elevation value (It 
can be provided by the Work Order or by the 
Konnect Install App) 
 
Step 28: Check Elevation nuts #2 and #3 are loose 
and spin Elevation nut #4 until it is 5   cm up the 
elevation rod (fig. 5) 
 
Step 29: Set Elevation on the Antenna with 
Elevation Adjustment nut #1 (fig. 5) using the 
Scale and Marker (fig. 18) or a digital inclinometer 
to better the accuracy 
 
Step 30: Check 3 Azimuth nuts #6-8 are loose (fig. 
5) and move Azimuth Adjuster bolt #5  untill the 
fine azimuth upper bolt #9 is centered (fig. 5) 
 
Step 31: Check the 3  canister nuts #10-12 are 
loose (fig. 5) 
 
Step 32: Visualize the SQF (Signal Quality Factor) 
on the modem page (fig. 19). The green number 
on the right is the current value, the blue number 
on the left is the max value achieved during your 
past measurements  
 
Step 33: Scan the Azimuth by slowly swinging the 
antenna from left to right and stop when the level 
SQF > 40 or higher 
 
bh¢9Υ LŦ ȅƻǳ ŎŀƴΩǘ ŦƛƴŘ ǘƘŜ ǎŀǘŜƭƭƛǘŜ ǊŜǇŜŀǘ Step 29 
& 33 optimizing the elevation until you find the 
ǎŀǘŜƭƭƛǘŜΦ LŦ ȅƻǳ ǎǘƛƭƭ ŎŀƴΩǘ ŦƛƴŘ ǘƘŜ ǎƛƎƴŀƭΣ ŎƘŜŎƪ ǘƘŀǘ 
the Polarization of the transceiver corresponds to 
your Beam (see Annex with the Beam/Pol 
mapping) 
 
Step 34: Fix the Antenna by tightening the 
canisters bolts #10-12 (fig. 5) on the pole of your 
mast as tight as possible  
 

Figure 18   

 

Figure 19   

 

PART 6: POINTING THE ANTENNA 
 


